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1.In figure ,/A = /B and DE | | AB Prove that AD =BE

-

L

[ E

A B

° Watch Video Solution

2. ABCD is a trapezium with AB || DC. E and F are points on non-parallel

sides AD and BC respectively such that EF is parallel to AB. Show that

AE  BF
ED FC’

° Watch Video Solution



https://dl.doubtnut.com/l/_leGtlNlkgwB0
https://dl.doubtnut.com/l/_0FgtNzXobvDs
https://dl.doubtnut.com/l/_19w42VpqLFze

3.I1n a ABC, D and E are points on sides ABandAC respectively such

that BD = CE. If /B = ZC, showthat DEBC.

° Watch Video Solution

4.ABCD is a parallelogram. P is a point on the side BC DP when produced

meets AB produced at L. Prove that pp _ DC (i) DL _ AL
proau -rrov PL BL " DP  DC

° Watch Video Solution

5. In the given figure,

DE| | |BC, AD = 2e¢m, BD = 2.5c¢m, AE = 3.2cm and DE = 4cm.


https://dl.doubtnut.com/l/_19w42VpqLFze
https://dl.doubtnut.com/l/_YcFbq5oaYbO0
https://dl.doubtnut.com/l/_IX1wBMvxmdhE

Find AC and BC.

° Watch Video Solution

6. In the given figure, ZACB = 90° and CD 1 AB. Prove that

CD? = BD - AD


https://dl.doubtnut.com/l/_IX1wBMvxmdhE
https://dl.doubtnut.com/l/_5apzp2XeJtGw

° Watch Video Solution

7. Prove that the line segments joining the mid-points of the sides of a
triangle from four triangles, each of which is similar to the original

triangle.

o Watch Video Solution

BD DA
8.In Fig. 4132, if AD 1 BC and DA = C prove that ABC is a

right triangle. (FIGURE)

[ o |


https://dl.doubtnut.com/l/_5apzp2XeJtGw
https://dl.doubtnut.com/l/_TEVolt43nNU5
https://dl.doubtnut.com/l/_JAqDEru0BYpd

[ W Watch Video Solution ]

9. Prove that the ratio of the areas of two similar triangles is equal to the

ratio of the squares of their corresponding sides.

Q Watch Video Solution

10. Two isosceles triangles have equal vertical angles and their areas are

in the ratio 16: 25 . Find the ratio of their corresponding heights.

o Watch Video Solution

11. The areas of two similar triangles are 121 cm? and 64cm? respectively.
If the median of the first triangle is 121 cm, then the corresponding

median of the other is :

° Watch Video Solution



https://dl.doubtnut.com/l/_JAqDEru0BYpd
https://dl.doubtnut.com/l/_wJcmwmJmeS4p
https://dl.doubtnut.com/l/_80xgtc07JZgR
https://dl.doubtnut.com/l/_Nc6U9j9cbK8j
https://dl.doubtnut.com/l/_iZhrX0aGhhHG

12. Prove that the area of an equilateral triangle described on a side of a
right-angled isosceles triangle is half the area of the equilateral triangle

described on its hypotenuse.

° Watch Video Solution

13. In a triangle ABC, B = 90° and D is the mid-point of BC then

prove that AC? = AD? + 3CD?

° Watch Video Solution

14.BL and CM are medians of a triangle ABC right angled at A. Prove that

4(BL* + CM?) = 5BC”

o Watch Video Solution

Solved Examples



https://dl.doubtnut.com/l/_iZhrX0aGhhHG
https://dl.doubtnut.com/l/_zRfo6zdX6ZsY
https://dl.doubtnut.com/l/_AYreTA3grtJS

1. One angle of a triangle is equal to one angle of another triangle and
the bisectors of these two equal angles divide the opposite sides in the

same ratio, prove that the triangles are similar.

° Watch Video Solution

2.In figure, DE | | BC.f AD=x+1, DB = x-2 , AE =x+2andEC =x+3, find the

value of x..


https://dl.doubtnut.com/l/_Dkvtq4F2sJzY
https://dl.doubtnut.com/l/_3NIqhbwozX8X



https://dl.doubtnut.com/l/_3NIqhbwozX8X

AR  AQ

3.Infi ,if PQ||B d PR||CD.P that — .
n figure , if PQ||BC an ||C rove that —— = ——

B

[

° Watch Video Solution

4. ABC is a triangle in which AB = AC and D is a point on AC such that

BC? = AC x CD.Prove that BD = BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_Kqwd535RvNu6
https://dl.doubtnut.com/l/_Y0lGg1psP3uo

5.In Fig. 4176, XY AC and XY divides triangular region ABC into two

t li Det ine A%
arts equal in area. Determine —-
P q AB

° Watch Video Solution

6. In an isosceles AABC, AB = AC and BD 1 AC . Prove that

(BD* — CD?) = 2CD - AD.

H

° Watch Video Solution



https://dl.doubtnut.com/l/_oyJfvcl0PnsM
https://dl.doubtnut.com/l/_c0Z1AxHuagrK

7. Equilateral triangles are drawn on the sides of a right triangle. Show
that the area of the triangle on the hypotenuse is equal to the sum of

the areas of triangles on the other two sides.

o Watch Video Solution

8.P and Q are points on sides AB and AC respectively of AABC . If AP =3

cm,PB=6cm,AQ =5cm and QC =10, show that BC =3PQ .

° Watch Video Solution

9.In Fig. 4192, ABC is a right triangle right-angled at B . AD and CE

are the two medians drawn from A and C respectively. If AC = 5ecm and

cm , find the length of CE . (FIGURE)

° Watch Video Solution



https://dl.doubtnut.com/l/_c0Z1AxHuagrK
https://dl.doubtnut.com/l/_4TWyhuYR5S36
https://dl.doubtnut.com/l/_4CRkDKaAfINB
https://dl.doubtnut.com/l/_Z3O42UBBmY2k
https://dl.doubtnut.com/l/_YFJu6Puj8TG4

AD 3
10.in AABC, DE | | BC such that DE -3 If AC = 5.6cm then,

AE=?

° Watch Video Solution

M. ABCD is a quadrilateral; P, ), RandS are the points of trisection of
side AB, BC,CDandDA respectively and are adjacent to AandC ;

prove that PQRS is parallelogram.

° Watch Video Solution

12. If three or more parallel lines are intersected by two transversal; Prove

that the intercepts made by them on tranversal are propotional.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_YFJu6Puj8TG4
https://dl.doubtnut.com/l/_BajgJHp01KRl
https://dl.doubtnut.com/l/_j7nAWVplAXks

13. AABC and ADBC lie on the same side of BC, show in the figure.
From a point on BC. PQ||AB and PR||BD are drawn, meeting AC at

Q, and CD at R respectively. Prove that QA | | AD.

A

° Watch Video Solution

14. Prove that the ratio of the areas of two similar triangles is equal to

the ratio of the squares of their corresponding sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_j7nAWVplAXks
https://dl.doubtnut.com/l/_3Gl02aEIeaBN
https://dl.doubtnut.com/l/_BJXdKGnm4Vvu

15. O is any point inside a rectangle ABCD. Prove that

OB? + OD? = OA? + 0C?2.

° Watch Video Solution

16. In right-angled triangle ABC in which ZC' = 900 , if D is the mid-

point of BC', prove that AB> = 4 AD*> — 3 AC*.

° Watch Video Solution

Ncert Section Exercise 6 1

1. Fill in the blanks using the correct word given in brackets: All circles are

triangles are similar (isosceles, equilaterals):

° Watch Video Solution



https://dl.doubtnut.com/l/_BJXdKGnm4Vvu
https://dl.doubtnut.com/l/_WgzGg2qmn2zw
https://dl.doubtnut.com/l/_EELi8xxwzHbu
https://dl.doubtnut.com/l/_PKlOXRJUALgn

2. Fill in the blanks using the correct word given in bracket: (i) All circles

are_ (congruent, similar) (ii) All squares are . (similar, congruent)
(iii) All____ triangles are similar, (isosceles, equilateral) (iv) Two polygons
of the

o Watch Video Solution

3. Fill in the blanks using the correct word given in brackets: All circles

All ..... triangles are similar (isosceles, equilaterals):

o Watch Video Solution

4. Fill in the blanks using the correct word given in brackets: Two
triangles are similar, if their corresponding angles are ... (proportional,
equal) Two triangles are similar, if their corresponding sides are ...

(proportional, equal) (iii) Two polygons of the same number of sides are


https://dl.doubtnut.com/l/_PKlOXRJUALgn
https://dl.doubtnut.com/l/_ycYs1ptJohp9
https://dl.doubtnut.com/l/_xZHLsychnTGH
https://dl.doubtnut.com/l/_JA7AGbdB5qMD

similar, if (a) their corresponding angles are and (b) their corresponding

sides are ....... (equal, proportional).

° Watch Video Solution

5. Give two different examples of pair of (i) similar figures. (ii) non-similar

figures.

° Watch Video Solution

6. Give two different examples of pair of (i) similar figures. (ii) non-similar

figures.

° Watch Video Solution



https://dl.doubtnut.com/l/_JA7AGbdB5qMD
https://dl.doubtnut.com/l/_hM9RbIH6JXNb
https://dl.doubtnut.com/l/_7xWtvJimdEwV

7. State whether the following quadrilaterals non similar or not :

0 Tcm L{.
. 1.5em
Jom 3em
.5 cm 1.5 am
P 1.5cm Q 1
A B
3 cm

° Watch Video Solution

Ncert Section Exercise 6 2

1. In Figure (i) and (ii), DE||BC. Find EC in (i) and AD in (ii).

° Watch Video Solution

2.E and F are points on the sides PQ and PR respectively of APQR. For
each of the following cases, state whether EF || QR: (i) PE=3.9cm.EQ =3
cm.PF=3.6cmand FR=24(ii)PE=4 cm.QE=4.5cm.PF=Scm and RF =9

cm(iii)


https://dl.doubtnut.com/l/_kElWl0xxHKdk
https://dl.doubtnut.com/l/_Ltm1Zb28KL65
https://dl.doubtnut.com/l/_Uxh2Ed2EM0gz

° Watch Video Solution

3.E and F are points on the sides PQ and PR respectively of APQR. For
each of the following cases, state whether EF || QR: (i) PE=3.9 cm.EQ =3
cm.PF=3.6cmand FR=24(ii)PE=4 cm.QE=4.5cm.PF=Scm and RF=9

cm(iii)

° Watch Video Solution

4.E and F are points on the sides PQ and PR respectively of APQR. For
each of the following cases, state whether EF || QR: (i) PE=3.9cm.EQ =3
cm.PF=3.6cmand FR=24(ii)PE=4 cm.QE=4.5cm.PF=Scm and RF=9

cm(iii)

° Watch Video Solution



https://dl.doubtnut.com/l/_Uxh2Ed2EM0gz
https://dl.doubtnut.com/l/_GJVqg35kyXBZ
https://dl.doubtnut.com/l/_UYWl1FUdwvhV

M
A
5.
In the fig. if LM || CB and LN || CD thtA _ AN
n the fig. i an , prove tha 15~ AD

o Watch Video Solution

6.In the given figure, DE||AC and DF||AE.

Prove that BF = BE
FE EC


https://dl.doubtnut.com/l/_ogGpIWpHVzv7
https://dl.doubtnut.com/l/_f2rnVTU2ZvnU

>
|~

o Watch Video Solution

7.1n figure DE || OQ and DF || OR. Show that EF||QR.

o Watch Video Solution

8.In figure A, B and C are points on OP, OQ and OR respectively such that

AB || PQ and AC || PR. Show that BC || QR.

° Watch Video Solution



https://dl.doubtnut.com/l/_f2rnVTU2ZvnU
https://dl.doubtnut.com/l/_HlGPFBBL2xfJ
https://dl.doubtnut.com/l/_R0TUjuWDBRed
https://dl.doubtnut.com/l/_zn5sYbMB2MVz

9. Theorem 8.10 : The line drawn through the mid-point of one side of a

triangle, parallel to another side bisects the third side.

° Watch Video Solution

10. Prove that the line joining the middle points of the two sides of a

triangle is parallel to the third side.

o Watch Video Solution

11. ABCD is a trapezium in which AB||DC and its diagonals intersect each

coO

other at the point O. Show that B0 — DO

° Watch Video Solution

12. The diagonals of a quadrilateral ABCD intersect each other at the

oint O such that 40 = co Show that ABCD is a trapezium
P BO DO pezim.



https://dl.doubtnut.com/l/_zn5sYbMB2MVz
https://dl.doubtnut.com/l/_mI08uEjDRogV
https://dl.doubtnut.com/l/_8LU8Mgw0rKiz
https://dl.doubtnut.com/l/_49JIEeaWCvGl

l Q9 Watch Video Solution J

Ncert Section Exercise 6 3

1. State which pairs of triangles in Figure are similar. Write the similarity

criterion used by you for answering the question and also write the pairs

of similar triangles in the symbolic form:

° Watch Video Solution

2. State which pairs of triangles in Figure are similar. Write the similarity
criterion used by you for answering the question and also write the pairs

of similar triangles in the symbolic form:

° Watch Video Solution

3. State which pairs of triangles in the given figures are similar .Write the

similarity criterion used by you for answering the question and also write


https://dl.doubtnut.com/l/_49JIEeaWCvGl
https://dl.doubtnut.com/l/_6pxL9uH4nXne
https://dl.doubtnut.com/l/_TtEV9Zzbzipj
https://dl.doubtnut.com/l/_FsFX3KQ9EI7k

the pairs of similar triangles in the symbolic form :

n

L
qul[\ 4 f
M———p {Z‘{ - :

° Watch Video Solution

T

4. State which pairs of triangles in Figure are similar. Write the similarity
criterion used by you for answering the question and also write the pairs

of similar triangles in the symbolic form:

° Watch Video Solution

5. State which pairs of triangles in Figure are similar. Write the similarity
criterion used by you for answering the question and also write the pairs

of similar triangles in the symbolic form:


https://dl.doubtnut.com/l/_FsFX3KQ9EI7k
https://dl.doubtnut.com/l/_ObneCXGnVj2P
https://dl.doubtnut.com/l/_oOwOu2areamb

° Watch Video Solution

6. State which pairs of triangles in Figure are similar. Write the similarity
criterion used by you for answering the question and also write the pairs

of similar triangles in the symbolic form:

° Watch Video Solution

7. In the figure , AODC-AOBA, /BOC = 125° and ZCDO = 70° .

Find ZDOC, ZDCO and ZOAB.



https://dl.doubtnut.com/l/_oOwOu2areamb
https://dl.doubtnut.com/l/_BORkv78155Cl
https://dl.doubtnut.com/l/_6O31RrCIicke

° Watch Video Solution

8. Diagonals AC and BD of a trapezium ABCD with AB || DC intersect each

other at the point O. Using a similarity criterion for two triangles, show

. OA OB
*oc ~ oD

o Watch Video Solution

T
9. In the given figure, % = g—R and /1 = /2 then prove that
A PQS- A TQR.
T
P
0 1 2
S R

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_6O31RrCIicke
https://dl.doubtnut.com/l/_q85I1ui6AXYe
https://dl.doubtnut.com/l/_7jnlU3jqUqlJ

10. In the given figure, S and T are points on sides PR and QR of APQR

such that /P = ZRT'S. Show that ARPQ-~ARTS.

R

° Watch Video Solution



https://dl.doubtnut.com/l/_7jnlU3jqUqlJ
https://dl.doubtnut.com/l/_zdZrxsibvN0i

1. In the figure ,if AABE =~ AACD ,Showthat AADE-AABC .

A

° Watch Video Solution

12. In the figure , altitudes AD and CE of AABC intersect each other at

the point P. Show that :


https://dl.doubtnut.com/l/_SBTWz5L9jNW1
https://dl.doubtnut.com/l/_gdjj4ouc27ie

AAEP-ACDP

o Watch Video Solution

13. In Figure altitudes AD and CE of DABC intersect each other at the
point P. Show that: () AAEPACDP (iii AABDACBE (iii)

AAEPAADB (iv) APDCABEC

° Watch Video Solution



https://dl.doubtnut.com/l/_gdjj4ouc27ie
https://dl.doubtnut.com/l/_MfBFlJEsoYpc

14. In Figure altitudes AD and CE of DABC intersect each other at the
point P. Show that: () AAEPACDP (i) AABDACBE (iii)

AAEPAADB (ivy APDCABEC

° Watch Video Solution

15. In Figure altitudes AD and CE of DABC intersect each other at the
point P. Show that: () AAEPACDP (iii AABDACBE (iii)

AAEPAADB (iv) APDCABEC

° Watch Video Solution

16.E is a point on the side AD produced of a parallelogram ABCD and BE

intersects CD at F . Show that AABE~-ACFB.

° Watch Video Solution



https://dl.doubtnut.com/l/_N6VuW2KjQcNp
https://dl.doubtnut.com/l/_zBw1jb8jYqzg
https://dl.doubtnut.com/l/_0bszAupTPDrw

17.1n figure ABC and AMP are two right triangles, right angles at B and M

CA B
respectively. Prove that (i) AABCAAMP (ii) A M—i

o Watch Video Solution

18. CD and GH are respectively the bisectors of ZACBand ZEGF'such
that D and H lie on sides AB and FE of AABC and AEFGrespectively.

. CD AG .
IfAABCAFEG, show that:(i) CH — FC (ii) ‘DeltaD

° Watch Video Solution

19. In figure E is a point on side CB produced of an isosceles triangle ABC

with AB=AC.If AD | BCandEF | AC,prove that AABDAECF.

o Watch Video Solution



https://dl.doubtnut.com/l/_r88hmHvadOQw
https://dl.doubtnut.com/l/_btuYO3SfgNBr
https://dl.doubtnut.com/l/_tEJ42bvDxq7O

20. Sides AB and BC and median AD of a triangle ABC are respectively
propor-/ tional to sides PQ and QR and median PM of APQR (see Fig.

6.41). Show that AABC-~-APOR.

° Watch Video Solution

21. In the given figure , D is a point on the side BC of AABC such that

/ADC = /BAC.Prove that CA? = CB x CD.

° Watch Video Solution



https://dl.doubtnut.com/l/_VhJ7SJhGuGBB
https://dl.doubtnut.com/l/_oE5t7HUjPUxP
https://dl.doubtnut.com/l/_JDVXRUqTotu9

22. Sides AB and AC and median AD of a triangle ABC are respectively
proportional to sides PQ and PR and median PM of another triangle PQR.

Show that A ABCAPQR.

° Watch Video Solution

23. A vertical pole of length 6 m casts a shadow 4 m long on the ground
and at the same time a tower casts a shadow 28 m long. Find the height

of the tower.

° Watch Video Solution

24. If AD and PM are medians of triangles ABC and PQR, respectively

AB  AD
whereAABCAPQR, prove that Z0) = Baf

° Watch Video Solution

Ncert Section Exercise 6 4


https://dl.doubtnut.com/l/_JDVXRUqTotu9
https://dl.doubtnut.com/l/_11bDoqiNCQ6K
https://dl.doubtnut.com/l/_qPrSyfZys84V

1. Let AABC — ADEF and their areas be , respectively |,

64cm? and 121cm?. If EF=15.4 cm , find BC.

° Watch Video Solution

2. Diagonals of a trapezium ABCD with AB || DC intersect each other at
the point O. If AB = 2 CD, find the ratio of the areas of triangles AOB and

COD.

o Watch Video Solution

3.In Fig. 6.44, ABC and DBC are two triangles on the same base BC. If AD

ar(ABC) AO

intersects BC at O, show that =
ar(DBC) DO

° Watch Video Solution



https://dl.doubtnut.com/l/_NMLqQ2GBvL0y
https://dl.doubtnut.com/l/_HPNIVBLUTJfF
https://dl.doubtnut.com/l/_ZsL3Uht5VD3K

4. If the areas of two similar triangles are equal, prove that they are

congruent.

° Watch Video Solution

5. D, E and F are respectively the mid-points of sides AB. BC and CA of

AABC .Find the ratio of the areas of DDEF andAABC .

° Watch Video Solution

6. Theorem 6.6 : The ratio of the areas of two similar triangles is equal to

the square of the ratio of their corresponding sides.

o Watch Video Solution

7.Prove that the area of an equilateral triangle described on one side of

a square is equal to half the area of the equilateral triangle described on


https://dl.doubtnut.com/l/_wO6NlhVaeezJ
https://dl.doubtnut.com/l/_sHxgQG9Gmpne
https://dl.doubtnut.com/l/_ivmraPAwKVEg
https://dl.doubtnut.com/l/_LIGJ7a7yQ5Wu

one of its diagonals.

° Watch Video Solution

8. ABC and BDE are two equilateral triangles such that D is the mid-
point of BC . The ratio of the areas of the triangles ABC and BDE is
2:1(b)1:2(c)4:1(d) 1:4

A2:1

B.1:2

C.4:1

D.1:4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_LIGJ7a7yQ5Wu
https://dl.doubtnut.com/l/_x9sqFm4ZywQB

9. Sides of two similar triangles are in the ratio 4:9 . Areas of these

triangles are in the ratio. 2: 3 (b) 4: 9 (c) 81:16 (d) 16: 81

A2:3

B.4:9

C.81:16

D.16:81

Answer: D

° Watch Video Solution

Ncert Section Exercise 6 5

1. Sides of triangle are given below. Determine which of them are right
triangles. In case of a right triangle, write the length of its hypotenuse.

(i) 7 cm, 24 cm, 25 cm (ii) 3 cm, 8 cm, 6 cm

[ o war_as_L vl _ e~_ 0. nt_ ]


https://dl.doubtnut.com/l/_LUGyX2F5mU4k
https://dl.doubtnut.com/l/_aRD7LaGU2Vwa

L vvallll VIUCU o0IULivII )

2. Sides of triangle are given below. Determine which of them are right
triangles. In case of a right triangle, write the length of its hypotenuse.

(i)7cm, 24 cm, 25 cm (ii) 3 cm, 8 cm, 6 cm

° Watch Video Solution

3. Sides of triangles are given below. Determine which of them right
triangles are. In case of a right triangle, write the length of its
hypotenuse. (i) 7 cm 24 cm 25 cm (ii) 3 cm. 8 cm 6 c¢m (iii) 50 cm, 80 cm

100 cm (iv) 13 cm 12 cm 5 cm

° Watch Video Solution

4. Sides of triangle are given below .Determine which of them are right
triangles .In case of a right triangle , write the length of its hypotenuse .

13cm,12cm,5cm



https://dl.doubtnut.com/l/_aRD7LaGU2Vwa
https://dl.doubtnut.com/l/_9Qibc5xv7w7a
https://dl.doubtnut.com/l/_zLroXuxxTdZO
https://dl.doubtnut.com/l/_N8Fx4vCZORwJ

l ° Watch Video Solution J

5. PQR is a triangle right angled at P and M is a point on QR such that

PM 1 QR.ShowthatPM? = QMMR.

o Watch Video Solution

6. In Figure 2, Delta ABD is a right triangle, right-angled at A and AC |

BD. Prove that AB*=BC . BD.

° Watch Video Solution

7.1n the figure , ABD is a triangle right angled at Aand AC L Bd . Show

that


https://dl.doubtnut.com/l/_N8Fx4vCZORwJ
https://dl.doubtnut.com/l/_7oZ0btRGl0kt
https://dl.doubtnut.com/l/_NYQcCRRmiS55
https://dl.doubtnut.com/l/_iJfEAznGSnCL

I

AD?> = BD - CD

o Watch Video Solution

8. ABC is an isosceles triangle right angled at C. Prove that AB?> = 2AC>.

o Watch Video Solution



https://dl.doubtnut.com/l/_iJfEAznGSnCL
https://dl.doubtnut.com/l/_atSBVYsYAtrm
https://dl.doubtnut.com/l/_upJC8SzlaR1n

9. ABC is an isosceles triangle with AC = BC. If AB*> = 2AC?, prove that

ABC is a right triangle.

° Watch Video Solution

10. ABC'is an equilateral triangle of side 2a. Find each of its altitudes.

° Watch Video Solution

11. Prove that the sum of the squares of the sides of a rhombus is equal

to the sum of the squares of its diagonals.

° Watch Video Solution

12. In figure, O is a point in the interior of a triangle ABC,
OD 1 BC,OF 1 ACand OF 1 AB. Show that (i)
OA? + OB® + OC? — OD? — OE? — OF* = AF® + BD? + CE*(ii)

AF? + BD?> + CE? = AW? + CD? + BF?


https://dl.doubtnut.com/l/_upJC8SzlaR1n
https://dl.doubtnut.com/l/_UVJpUlUfKX9q
https://dl.doubtnut.com/l/_j3H7yuBi3ZbY
https://dl.doubtnut.com/l/_rqkopnYN7sAi

° Watch Video Solution

13. A ladder 10m long reaches a window 8 m above the ground. Find the

distance of the foot of the ladder from base of the wall.

o Watch Video Solution

14. A guy wire attached to a vertical pole of height 18m is 24 m long and
has a stake attached to the other end. How far from the base of the pole

should the stake be driven so that the wire will be taut?

° Watch Video Solution

15. An aeroplane leaves an airport and flies due north at a speed of 1000
km per hour. At the same tune, another aeroplane leaves the same
airport and flies due west at a speed of 1200 km per hour. |How far apart

will be the two planes after 11/2

[ o |


https://dl.doubtnut.com/l/_rqkopnYN7sAi
https://dl.doubtnut.com/l/_4sstbfXDhMcm
https://dl.doubtnut.com/l/_j7fVROYhenzm
https://dl.doubtnut.com/l/_sRgyabx2DE9F

[ W Watch Video Solution ]

16. Two poles of heights 6 m and 11m stand on a plane ground. If the
distance between the feet of the poles is 12 m, find the distance between

their tops.

° Watch Video Solution

17. D and E are points on the sides CA and CB respectively of a triangle

ABC right angled at C. Prove that AE? + BD?> = AB? + DE>.

° Watch Video Solution

18. The perpendicular from A on side BC of a ABC intersects BC at D such

that DB = 3 CD. Prove that 2AB% = 24C? + BC?2.

° Watch Video Solution



https://dl.doubtnut.com/l/_sRgyabx2DE9F
https://dl.doubtnut.com/l/_AQmqHB86is9L
https://dl.doubtnut.com/l/_jgxQqM3NOSzg
https://dl.doubtnut.com/l/_1feKfE95D0ns
https://dl.doubtnut.com/l/_DiRQC2FBXJfz

19. In an equilateral triangle ABC, D is a point on side BC such that

1
BD = §BC. Prove that 94 D? = TAB2.

° Watch Video Solution

20. In an equilateral triangle, prove that three times the square of one

side is equal to four times the square of one of its altitudes.

o Watch Video Solution

21. Tick the correct answer and justify: In AABCAB = 6,/3cm. AC = 12 cm
and BC =6 cm. The angle B is:(A) 120 (B) 60 (C) 90 (D) 45

A.120°

B.60°

C.90°

D.45°


https://dl.doubtnut.com/l/_DiRQC2FBXJfz
https://dl.doubtnut.com/l/_e4wL716RwgHb
https://dl.doubtnut.com/l/_KudoewUZfRTK

Answer: C

o Watch Video Solution

Ncert Section Exercise 6 6

1. In the figure , PS is the bisector of ZQPR of APQR . Prove that

QS _ PQ
SR PR’

o View Text Solution



https://dl.doubtnut.com/l/_KudoewUZfRTK
https://dl.doubtnut.com/l/_6sC8oPEG6fk5

2.In Fig. 4121, ABC is a right triangle right angled at B and D is the
foot of the the perpendicular drawn from B on AC . If DM 1 BC and
DN L AB , prove that: (FIGURE) DM? = DN x MC (i)

DN? = DM x AN

° Watch Video Solution

3.In the given figure, AABC! is an obtuse triangle, obtuse-angled at B. If

AD 1 CB (produced ) prot that AC?> = AB*> + BC? + 2BC - BD

A

D B C

o Watch Video Solution



https://dl.doubtnut.com/l/_K3ncONLBUB2H
https://dl.doubtnut.com/l/_AybJmPqqVHX8

4.In the figure , ABC is triangle in which ZABC < 90° and AD 1 BC.

Prove that AC? = AB?> + BC? — 2BC - BD.

° Watch Video Solution

5.In the given figure (not to scale), AC is the median as well as altitude to

BD.In A ACE, AD is the median to CE. Which of the following is true?


https://dl.doubtnut.com/l/_X0OoT8wwkS2r
https://dl.doubtnut.com/l/_GpgKXs5tPYil

° Watch Video Solution

6. In the given figure (not to scale), AC is the median as well as altitude to

BD.In A ACE, AD is the median to CE. Which of the following is true?


https://dl.doubtnut.com/l/_GpgKXs5tPYil
https://dl.doubtnut.com/l/_nBrC5UKSSVJb

° Watch Video Solution

7.1n the given figure (not to scale), AC is the median as well as altitude to

BD.In A ACE, AD is the median to CE. Which of the following is true?


https://dl.doubtnut.com/l/_nBrC5UKSSVJb
https://dl.doubtnut.com/l/_JFqUyKuiHyPQ

. TN

° Watch Video Solution

8. Prove that the sum of the squares of the diagonals of parallelogram is

equal to the sum of the squares of its sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_JFqUyKuiHyPQ
https://dl.doubtnut.com/l/_N1M6xBiQtyjy
https://dl.doubtnut.com/l/_iXc4hLIvnBSn

9. In Figure, two chords AB and CD intersect each other at the point P.

Prove that: () AAPCADPB (ii) AP-PB = CP-DP

° Watch Video Solution

10. In Figure two chords AB and CD of a circle intersect each other at the
point P (when produced) outside the circle. Prove that(i) APACAPDB

(i) PAPB = PCPD

o Watch Video Solution

. In Il

Prove that AD is the bisector of /ZBAC.

o Watch Video Solution

12. Nazinia is fly fishing in a stream. The tip of her fishing rod is 1.8 m

above the surface of the water and the fly at the end of the string rests


https://dl.doubtnut.com/l/_iXc4hLIvnBSn
https://dl.doubtnut.com/l/_cqzHD2Rd8CPR
https://dl.doubtnut.com/l/_3fO5VK3dO4f1
https://dl.doubtnut.com/l/_AzQN1096RoPR

on the water 3.6 m away and 2.4 m from a point directly under the tip of

the rod. Assuming that h

o Watch Video Solution

Exercise Multiple Choice Questions Level 1

1 In AABC,DE | | BC SO that
AD = = 2.4cm, AE = 3.2em and EC = 4.8cm, then , AB=?
A
D E
o
B C
A. 3. 6cm
B.6cm

C.6.4cm


https://dl.doubtnut.com/l/_AzQN1096RoPR
https://dl.doubtnut.com/l/_Fm52l36fI1bQ

D.1.6cm

Answer: B

° Watch Video Solution

2. In AABC,DE | | BC so that
AD = (7x — 4)em, AE = (5 — 2)em, DB = (3 + 4)em and EC = 3z

. Then, we have

A



https://dl.doubtnut.com/l/_Fm52l36fI1bQ
https://dl.doubtnut.com/l/_YicqYWxLlV65

A3

B.5

C.4

D. 25

Answer: C

° Watch Video Solution

3.In AABC, AD is the inernal besector of ZA. If BD = 5cm , BC=7.5 cm

then AB:AC=


https://dl.doubtnut.com/l/_YicqYWxLlV65
https://dl.doubtnut.com/l/_wscozJjDBGRn

A2:1

B.1:2

C.4:5

D.3:5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wscozJjDBGRn
https://dl.doubtnut.com/l/_s8GEreW1eMJR

4.In the given fig., AB || DC and diagonals AC and BD intersects at O. If OA

=3x-1 and OB =2x + 1, OC = 5x-3 and OD =6x-5, find the value of x.

A2

B.3

C.25

D.35

Answer: A

o Watch Video Solution

AB  BD
5 | AABC it i i that —=— . If
n i is  given a 1C ~ Do

/B =170° and ZC = 50°then/BAD = ?


https://dl.doubtnut.com/l/_s8GEreW1eMJR
https://dl.doubtnut.com/l/_P2xcaTNNx4MB

A.30°

B.40°

C.50°

D.45°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_P2xcaTNNx4MB
https://dl.doubtnut.com/l/_32Y7H7GLv7dR

. . ar(AABD)
6.In AABC, AD is the bisector of /A .Then, ———MM — =
ar(AACD)
AB?
AC?
AB
TAC
BM
CcM

D. None of these

Answer: B

° Watch Video Solution

7. AABC~ADEF and the perimeters of AABCd and ADEF are 30

c¢m and 18 cm respectively. If BC' = 9c¢m, then EF=?

A.6.3cm

B.5.4cm

C.7.2cm

D.4.5cm


https://dl.doubtnut.com/l/_32Y7H7GLv7dR
https://dl.doubtnut.com/l/_4EwintooKKLJ

Answer: B

° Watch Video Solution

8. AABC~ADEF such that AB = 91 cm and DE =6.5 cm. If the perimeter
of ADEF is 25 cm, what is the perimeter of AABC?

A.35cm

B. 28 cm

C.42cm

D.40 cm

Answer: A

° Watch Video Solution

9. A vertical stick 20 m long casts a shadow 10m long on the ground. At

the same time, a tower casts a shadow 50m long on the ground. The


https://dl.doubtnut.com/l/_4EwintooKKLJ
https://dl.doubtnut.com/l/_w5ssJ3EUXfaM
https://dl.doubtnut.com/l/_LsB7GgmyzfdR

height of the tower is (a) 100m (b) 120m (c) 25m (d) 200m

A.100 m

B.120 m

C.25m

D.200 m

Answer: A

° Watch Video Solution

10. Two isosceles triangles have equal angles and their areas are in the

ratio 36: 81 .The ratio of their corrersponding heights is

A2:3

B.5:4

C.3:2

D.1:4


https://dl.doubtnut.com/l/_LsB7GgmyzfdR
https://dl.doubtnut.com/l/_pOusBKOJrC1r

Answer: A

° Watch Video Solution

1.1f ABC and DEF are similar such that 2 AB = DE and BC = 8cm ,

then EF = (a) 16cm (b) 12cm (c) 8cm (d) 4cm.

A.16 cm

B.12 cm

C.8cm

D.4 cm

Answer: A

° Watch Video Solution

12.In ABC', aline XY parallel to BC cuts ABat X and AC atY .If BY

bisects ZXYC , then BC = CY (b) BC = BY (c) BC # CY (d)


https://dl.doubtnut.com/l/_pOusBKOJrC1r
https://dl.doubtnut.com/l/_5ekVmtO6OFmf
https://dl.doubtnut.com/l/_CheCauI4ZGQe

BC + BY

A.BC=CY

B.BC =BY

C.BC # CY

D. None of these

Answer: A

° Watch Video Solution

13. Let ABC be an equilateral triangel. Let BE 1 C A meeting CA at E,
then (AB2 + BC? + C’A2) is equal to :

A 3BE*

B. BE®

C. BE®

D. 6 BE?


https://dl.doubtnut.com/l/_CheCauI4ZGQe
https://dl.doubtnut.com/l/_Cd453aYmJ18N

Answer: C

° Watch Video Solution

14. Aright triangle has hypotenuse of length p cm and one side of length

gcem . If p — g = 1, find the length of the third side of the triangle.

A /2q+1
B../2p+1

C.2p

D.1+gq

Answer: A

o Watch Video Solution

15. ABC is an isosceles triangle with AC = BC. If AB* = 2AC?, prove that

ABC is a right triangle.


https://dl.doubtnut.com/l/_Cd453aYmJ18N
https://dl.doubtnut.com/l/_BIpsVoZmEAMv
https://dl.doubtnut.com/l/_AxCHwq6baxvc

A A

B.B

C.C

D. None of these

Answer: C

o Watch Video Solution

16. AABC'is a right triangle , right angled at Aand AD | BC .If AB=c

and AC = b, then AD is equal to


https://dl.doubtnut.com/l/_AxCHwq6baxvc
https://dl.doubtnut.com/l/_fJoISllymsNn

i

(2

be
be
B. ——
b2 + c2
bc

D. None of these

A

C.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fJoISllymsNn

17 AABC is rightangled at A and AD L BC. |If
BC = 13cm and AC = 5¢m, find the ratio of areas of

AABC and AADC.

A
N
5cm
//'
’/
- B
& D C
- ———13 cm
A.25:169
B.169: 25
C.5:12
D.13:5
Answer: B

[ e ]


https://dl.doubtnut.com/l/_PYHIozTKbEqK

l &J Watch Video Solution J

18.L and M are the mid points of AB and BC respectively of AABC , right

angled at B.4LC? =

A

M

A AB? + 4BC?
B. BC? + 4AB?
C.AC? + 4AB?

D. None of these


https://dl.doubtnut.com/l/_PYHIozTKbEqK
https://dl.doubtnut.com/l/_LzJ3HC5dtSSO

Answer: A

° Watch Video Solution

19. In the given figure , x in terms of a,b and cis

L

ac
Ax = b e
ab
B.z = bt e
ac
Czx = R
be
D.x =
a—+c

Answer: A

f _


https://dl.doubtnut.com/l/_LzJ3HC5dtSSO
https://dl.doubtnut.com/l/_JojSmJuEdmGC

l o Watch Video Solution J

20. In figure, two line segments AC and BD intersects each other at the
point P such that PA = 6 cm, PB =3 ¢cm, PC = 2.5 cm, PD=5 cm,

/APB = 50° and ZCDP = 30°.Then, ZPBA is equal to

A

A.50°

B.30°

C.60°

D. 100°

Answer: D



https://dl.doubtnut.com/l/_JojSmJuEdmGC
https://dl.doubtnut.com/l/_1Zj8RN7m4LE1

| ° Watch Video Solution

21.In the given figure , value of x is

A.8 cm

B.4 cm

C.10 cm

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1Zj8RN7m4LE1
https://dl.doubtnut.com/l/_1X7KXWcli0Xr

AB BD
22.In the given fi ,if — = —— ,then ZABD =
n the given figure, i i oD en

A.50°

B.40°

C.30°

D.70°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1X7KXWcli0Xr
https://dl.doubtnut.com/l/_kigceCsfhaaV
https://dl.doubtnut.com/l/_aOsHkeBhJgRB

23. The point in the plane of a triangle which is at equal perpendicular
distance from the sides of the triangle is :

A. just one such point (b)

B. three such points

C. four such points

D. None of these

Answer: A

o Watch Video Solution

24. PSR is a triangle right angled at s . D is the mid -point of SR .If the
bisector of /PSR and perpendicular bisector of SR meet at O , then
AOSD is

A. scalene

B. equilateral


https://dl.doubtnut.com/l/_aOsHkeBhJgRB
https://dl.doubtnut.com/l/_8puopdDyrRAK

C.isosceles right angled

D. acute -angled

Answer: C

o View Text Solution

25. An isosceles triangle has a 10 inches base and two 13 inches sides
What other value can the base have and still yields a triangle with the
same areas ?

A. 18 inches

B. 19 inches

C. 24 inches

D. 27 inches

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8puopdDyrRAK
https://dl.doubtnut.com/l/_RoWDnbY0kJ2W

26. If the ratio of the perimeter of two similar triangles is 4:25, then find

the ratio of the areas of the similar triangles.

A.16: 625

B.2:5

C.5:2

D.625:16

Answer: A

° Watch Video Solution

27.In AABC, /B = 90° and BD 1 AC. If DC=7 cm and AD = 3 cm,

then the length of BD is

A. \/23cm

B.v21lecm


https://dl.doubtnut.com/l/_RoWDnbY0kJ2W
https://dl.doubtnut.com/l/_R1h8NH3jocXG
https://dl.doubtnut.com/l/_QfaguK1EEGMz

C. ﬁcm

D.21cm

Answer: B

o Watch Video Solution

28. In which of the following options ,DE ||AB where D and E lie on the
sides AC and BC of AABC respectively ?
A.AD=6,EC=14,BC=18,DC =21
B.BE=20,Dc=10,AC=25,BC=36
C.AC=10,Dc=4,EC=2,BC=6

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QfaguK1EEGMz
https://dl.doubtnut.com/l/_LtI8Utscm7EZ
https://dl.doubtnut.com/l/_aKIDW0XzY3p5

29. In the given figure , AABC-APQR PM is median of APQR . If ar
(AABC) = 289cm?, BC = 17cm, MR = 6.5¢cm , then the area of

APQM is

A
i Co0 / \ R

M

A. 169cm?

B. 13cm?

C.84.5¢m?

D. 144.5¢m?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aKIDW0XzY3p5

30. In a rectangle ABCD , E is the mid -point of AB . If AB=16 m and AD = 6

m , then find ED .

A.15cm

B.10 cm

C.12m

D.14 m

Answer: B

o Watch Video Solution

31.In the given figure , PQRS is a parallelogram with PQ = 16 cm and QR =
10 cm . Lis a point on PR such that RL:LP=2:3QL is produced to meet RS at

M and PS produced at N . Find the length of PN and RM (in cm )


https://dl.doubtnut.com/l/_EM8FrYwYi6a4
https://dl.doubtnut.com/l/_XldArG7p8Fjt

respectively .

A |
F,a-f" I B Ny I 16 cm
. |
7 |" \
i 5 P
A. 16 102
. ] §
B.10 102
. 9 §
C.15 102
. 9 §
D. 15 1
. ,g
Answer: C

° Watch Video Solution

32. The perimeters of two similar triangles are 30 cm and 20 cm . If one

altitude of the former triangle is 12 cm , then the length of the


https://dl.doubtnut.com/l/_XldArG7p8Fjt
https://dl.doubtnut.com/l/_tXfZJ2XtIpYv

corresponding altitude of the latter triangle is

A.8 cm

B.10 cm

C.12cm

D.15cm

Answer: A

o Watch Video Solution

33.The length of the diagonal of a square is 74/2 cm . Then , the area of

the square in cm? is

A. 28

B. 14,/2

C. 21

D. 49


https://dl.doubtnut.com/l/_tXfZJ2XtIpYv
https://dl.doubtnut.com/l/_wO0LqKOuEDmR

Answer: D

° Watch Video Solution

34.A man goes 15 m due east and then 20 m due north .find his distance

from the starting point.

A.35m

B.5m

C.25m

D.15m

Answer: C

o Watch Video Solution

35. In AABCand ADEF, if

/A =50°, /B =170°,/4C =60°,4D = 60°, ZE = 70° and /F = 50°


https://dl.doubtnut.com/l/_wO0LqKOuEDmR
https://dl.doubtnut.com/l/_3byiOpsD4PCL
https://dl.doubtnut.com/l/_dWoPbeLdZ2RJ

, then

A.AABC-ADEF

B.AABC~-AEDF

C.AABC-ADEF

D. AABC-AFED

Answer: D

° Watch Video Solution

Exercise Multiple Choice Questions Level 2

1.Ina AABC, point D is on side AB and point E is on side Ac, such that

BCED is a trapezium . If DE : BC = 3 : 5, then area (AADE): area

(ABCED)-=

A.3:4

B.9:16


https://dl.doubtnut.com/l/_dWoPbeLdZ2RJ
https://dl.doubtnut.com/l/_GbJmmvzVy4dH

C.3:5

D.9:25

Answer: B

o Watch Video Solution

2. ABCD is a trapezium such that BCAD and AB = 4cm . If the

AO DO 1
di Is AC and BD int t at O such that — = — = —,th
iagonals an intersect at O such tha 0C OB 5 » then

BC = Tem (b) 8¢m (c) 9em (d) 6em
A.7cm
B.8cm

C.9cm

D.6cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GbJmmvzVy4dH
https://dl.doubtnut.com/l/_AGpsp2aUnkYX

3.In Fig. 4142, PA, QB and RC are each perpendicular to AC . Prove

1 1 1
that — + — = — . (FIGURE)
x z y

A.1/5y
B.1/2y

Cl/y

D. None of these

Answer: C

° Watch Video Solution

4. The area of a right angled triangle is 6 sq . Cm and its perimeter is 12

cm . The length of its hypotenuse is

A.6cm

B.5cm


https://dl.doubtnut.com/l/_AGpsp2aUnkYX
https://dl.doubtnut.com/l/_A6UzJ1Mrvqh6
https://dl.doubtnut.com/l/_LxqZ5U0NJmvX

C.2cm

D. Data insufficient

Answer: B

o Watch Video Solution

5.If A be the area of a right triangle and b one of the sides containing

the right angle, prove that the length of the altitude on the hypotenuse
2AB
Vbt + 4A?

is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_LxqZ5U0NJmvX
https://dl.doubtnut.com/l/_Y2orcEQBOoJg

6. In the figure , /BED = /BDFE and F divides BC in the ratio 2:1 .

Then, AF x BE =

| —
i

A.AD x CF

B.2BD x CE


https://dl.doubtnut.com/l/_Y2orcEQBOoJg
https://dl.doubtnut.com/l/_AyzGBBgiTzcw

C.2AD x AC

D.2AD x CF

Answer: D

° View Text Solution

7.In AABC (in the figure) , /B = 90° , AE=CD=13 cm , BE =AD =5 cm .

Then BC=

T,
i \H\F

A. 24/30cm


https://dl.doubtnut.com/l/_AyzGBBgiTzcw
https://dl.doubtnut.com/l/_p2XM9xsJEfU4

B. 1/30cm
C.3,/30cm

D. None of these

Answer: A

° Watch Video Solution

8. In the Fig. given below, OB is the perpendicular bisector of the line

segment DE, FA | OB and FE intersects OB at the point C. Prove that


https://dl.doubtnut.com/l/_p2XM9xsJEfU4
https://dl.doubtnut.com/l/_Jv48vw3MxN9Z

C—
ocC

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Jv48vw3MxN9Z
https://dl.doubtnut.com/l/_faUn2UekIiQq

9. In right angled AABC, Z/C = 90° and D, E, F are three points on

BC such that they divide it in equal parts .Then S(AF2 + AD2) =

A AC? + AB?

B.11AC? + 5AB?

C.10AC?* + 5AB?

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_faUn2UekIiQq

10.In ADEF, L is a point on side DE such that LM||DDFandLN||EF. If MN

meets ED in O when produced ,then OD x OF =

A OL?

B. LD?

C. DN?

D. None of these

Answer: A

o View Text Solution

11.S and U are two points on the side PQ of APQR , such that QU=PS . If

ST|IIQRand UV | | PR ,then

A.TV||PQ

B.TV L PQ


https://dl.doubtnut.com/l/_faUn2UekIiQq
https://dl.doubtnut.com/l/_UdlBXnOSj3Ha
https://dl.doubtnut.com/l/_8t6jrkf9ZhNX

C.TV and PQ intersect at 60°

D. TV and PQ intersect at 45°

Answer: A

o View Text Solution

12. A girl of height 90 cm is walking away from the base of a lamp post at
a speed of 1.2 m/sec. If the lamp post is 3.6m above the ground, find the
length of her shadow after 4 seconds.

Alm

B.1.2m

C.1.6m

D.2m

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8t6jrkf9ZhNX
https://dl.doubtnut.com/l/_OxXdCtad8mgT

13.1n a trapezium ABCD ,AB||CDandDC=3AB.EF||AB intersects DA and CB at
BF 2
E and F such that — = — .Then 3DC=
FC 3
A. 4EF
B. 2EF

C. 5ef

D. EF

Answer: C

o View Text Solution

14. Two triangles ABC and DBC are on the same base BC and on the same
side of BC in which ZA = /D = 90°.If CA and BD meet each other

at E,showthat AE. EC = BE. ED.

A.BE x ED


https://dl.doubtnut.com/l/_OxXdCtad8mgT
https://dl.doubtnut.com/l/_ld5obrhOihQQ
https://dl.doubtnut.com/l/_63dAPNwW8245

B.BE x BD

C.BE x CE

D. None of these

Answer: A

o Watch Video Solution

15.1f S is a point on side PQ of a APQR such that PS=QS=RS, then
A.PR-QR = RS?
B.QS? + RS? = QR?
C.PR?> + QR? = PQ?

D. PS? + RS? = PR?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_63dAPNwW8245
https://dl.doubtnut.com/l/_Wvxt6jJQNGPq

Exercise Match The Following

1. List -l and List -l are given as options (a) , (b) , (c ) and (d) out of which

one is correct .

()

Q)

(R)

(5)

List-I

All circles are

If the areas of two
similar triangles

are equal they are

If a line divides any
two sides of a triangle
in the same ratio,
then the line is
Diagonals of a
trapezium

A.P-2,0-4,R-15-3

B.P-1,0-2,R-3,5-4

C. P4 ,Q0-3,R-2,5-1

D.P-1,0-3,R-2,5-4

Answer: A

(1)

List-1I
parallel to
third side
similar

divide each
other
proportionally

congru ent

[ =


https://dl.doubtnut.com/l/_AJzbgHfm2U3T

I o Watch Video Solution

2.1fina AABC, DE | | BC and intersects AB at D and AC at E, then

match the lists :

List-1 List-I1
by AD , AC
ST M AE

AB - AE
Q ~p (D) +e

B AB
® 25 G Ac
o AP 4 EC
(>) AE (%) AC

A.P-1,0-2,R-3,54

B.P-4,0Q-3,R2,5-1

C.P-2,0Q-1,R-4 ,S-3

D.P-1,0Q0-3,R-2,5-4


https://dl.doubtnut.com/l/_AJzbgHfm2U3T
https://dl.doubtnut.com/l/_Hmtnjxuo3iI0

Answer: C

° Watch Video Solution

3. Match the lists

List-1 List-11

() In AABC and APQR (1} AA similarity
AE Af‘ L A= LP criterion
PQ PR

= AABC - APOR
(Q) In AABC and APUR (2) SAS similarity
LA=LP, LB=20 criterion
— AABC ~ APOR
(R} In AABC and APQR (3) 555 similarity
AB AC _BC

o criterion
P PROQR
= AABC - APQR
(S) In AABC, DF || BC (4) BPT
AD - AE
BD CE

A.P-1,0-2,R3 54

B.P-2,0Q-1,R-3,5-4


https://dl.doubtnut.com/l/_Hmtnjxuo3iI0
https://dl.doubtnut.com/l/_6HfVQraOWwcG

C.P-4,03,R-2,51

D.P1,0Q0-3,R-2,5-4

Answer: B

o Watch Video Solution

Exercise Assertion Reason Type

1. Assertion : All regular polygons of the same number of sides such as

equilateral triangles , squares etc . Are similar .

Reason : Two polygons are said to be similar if their corresponding

angles are equal and lengths of corresponding sides are proportional .

A.If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .


https://dl.doubtnut.com/l/_6HfVQraOWwcG
https://dl.doubtnut.com/l/_rS4zGhDV22P5

C.If assertion is true reason is false .

D. If assertion is false but reason is true .

Answer: A

o View Text Solution

2. Assertion : If the areas of two similar triangles are equal , they are

congruent.

Reason : Area of similar triangles are proportiona to their corresponding

sides .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C.If assertion is true reason is false .

D. If assertion is false but reason is true .


https://dl.doubtnut.com/l/_rS4zGhDV22P5
https://dl.doubtnut.com/l/_XpfQNXKKdwBo

Answer: C

o View Text Solution

3. Any line parallel to the parallel sides of a trapezium divides the non-

parallel sides proportionally.

A.If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C.If assertion is true reason is false .

D. If assertion is false but reason is true .

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XpfQNXKKdwBo
https://dl.doubtnut.com/l/_N7NueIX75sBF
https://dl.doubtnut.com/l/_kSrXKKFO6ru5

4. Assertion : If a line divides any two sides of a triangle in the same ratio
, then the line is paralle to third side .
Reason : Line segment joining the mid -point of any two sides of a
triangle is parallel to the third side .
A.If both assertion and reason are true and reason is the correct
explanation of assertion .
B. If both assertion and reason are true but reason is not the correct
explanation of assertion .

C. If assertion is true reason is false .

D. If assertion is false but reason is true .

Answer: B

o View Text Solution

5. Prove that the internal bisector of the angle A of a triangle ABC divides

BC in the ratio AB:AC


https://dl.doubtnut.com/l/_kSrXKKFO6ru5
https://dl.doubtnut.com/l/_XKKNMbdxZNWj

A.If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C. If assertion is true reason is false .

D. If assertion is false but reason is true .

Answer: C

o Watch Video Solution

Exercise Comprehension Type

1. The ratio of the areas of two similar triangles is equal to the square of

the ratio of their corresponding sides .
If AABC-ADEF, BC = 3cm, EF = 4cm and area of

AABC = 54cm? ,then the area of ADEF is


https://dl.doubtnut.com/l/_XKKNMbdxZNWj
https://dl.doubtnut.com/l/_NFKekn2xZFp4

A. 96¢cm?

B. 106cm>

C. 86cm’

D. 76¢cm?

Answer: A

° View Text Solution

2.The ratio of the areas of two similar triangles is equal to the square of
the ratio of their corresponding sides .
If AABC-ADEF , the area of AABC is 9cm? , the area of ADEF is
16cm? and BC = 2.1 cm, then the length of EF is

A.2.5cm

B.2.8cm

C.3.2cam

D.3.5cm


https://dl.doubtnut.com/l/_NFKekn2xZFp4
https://dl.doubtnut.com/l/_jLL1CtQCGWka

Answer: B

° View Text Solution

3. Sides of two similar triangles are in the ratio 7:8 .Areas of these

triangles are in the ratio

A8:7

B.49:64

C.7:15

D.64:49

Answer: B

o Watch Video Solution

4.In the given figure AD is the bisector of ZA.If BD=4 cm,DC =3 ¢cm and

AB = 6¢cm . Find AC.


https://dl.doubtnut.com/l/_jLL1CtQCGWka
https://dl.doubtnut.com/l/_ksi39HKsEfwT
https://dl.doubtnut.com/l/_XpUanZfOJ1bf

6 cm

A. 4. bem

B. 3. 5em

C.4. 8m

D. 3.2e¢m

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XpUanZfOJ1bf

5.1n the given figure , Ad is the bisector of /BAC.If AB =10 cm ,AC = 14

cm and BC =8 cm, find BD and DC respectively .

14 em

10 cm

I

A.4.Tem, 3.3cm
B.3.3cm, 4.7cm
C.4. 3cm, 3, bem

D. 3. bcm, 4.3cm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QcIMrS38qfis
https://dl.doubtnut.com/l/_0wSvIrin8iBh

6. The internal /external bisector of an angled of a triangle divides the
opposite side internally / externally in the ratio of the sides containing
the angle.

In the given figure ,Ae is the bisector of the exterior ZC'AD meeting BC

produced in E . If AB=15 cm ,AC =8 cm and BC =14 cm, find CE .

i

A. 12 cm

B.16 cm

C.20cm


https://dl.doubtnut.com/l/_0wSvIrin8iBh

D.18 cm

Answer: B

° View Text Solution

7. The perimeters of two similar triangles ABC and PQR are

respectively 36cm and 24cm. If PQ = 10cm , find AB .

A.12 cm

B.15 cm

C.18 cm

D.20 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0wSvIrin8iBh
https://dl.doubtnut.com/l/_2rHeievYO0lA

8. Two sides of a triangle are 10 cm and 15 cm and the base is 20 cm long .

If another triangle similar to the first triangle has the base measuring 32

cm , then other two sides of the triangle are

A.16cm, 24 cm

B.12 cm, 28 cm

C.15cm,25cm

D.18 cm,22 cm

Answer: A

o Watch Video Solution

9. If ratio of areas of two triangles are 64:121 , then the ratio of

corresponding perimeter is

A 8:11

B.11:8


https://dl.doubtnut.com/l/_KopvuS3qoHEy
https://dl.doubtnut.com/l/_0XacFPns1S9s

C.9:121

D.8:9

Answer: A

° Watch Video Solution

Exercise Subjective Problems Very Short Answer Type

1.Ina AABC, DE | | BC,the find the value of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_0XacFPns1S9s
https://dl.doubtnut.com/l/_0QeAFOLJKaup

2.In AABC, ZADE = /B,then find DEif AD=7.6 cm,BD =4.2 cm and

BC=8.4 cm.

A

L

(. B

° Watch Video Solution



https://dl.doubtnut.com/l/_0QeAFOLJKaup
https://dl.doubtnut.com/l/_1jwRKaFf2QO9

3.In figure ,DE||Bcand CD ||EF . Prove that AD* = AB x AF.

° Watch Video Solution

4. ABC is a right triangle right angled at C and AC = 1/3BC . Prove that

ZABC = 60° .

° Watch Video Solution



https://dl.doubtnut.com/l/_3VgujhjyAA2v
https://dl.doubtnut.com/l/_kPK1VbcZ4PcH

5. In AABC,AD 1 BC and AD* = BD-CD . Prove that

/ZBAC =90° .

o Watch Video Solution

6. Two pillars of heights 70 m and 20 m are standing 120 m apart . Find

the distance between their tops .

° Watch Video Solution

7. AABC-APQR and ar(AABC) = 4ar(APQR) IF BC = 12cm

then find QR

o Watch Video Solution

8. If the diagonal BD of a quadrillateral ABCD bisects both /B and ZD.

P thtA —AD
rove tha BC — 0D



https://dl.doubtnut.com/l/_CXAbxoiSQ0qx
https://dl.doubtnut.com/l/_beLH3nQs4JMt
https://dl.doubtnut.com/l/_Nqmd7hbqomI7
https://dl.doubtnut.com/l/_qtXmPAkxWwux

| o Watch Video Solution

9.In a trapezium ABCD, O is the point of intesection of AC and BD, AB||CD
and AB = 2 x CD. If the area of A AOB = 84cm? . Find the area of

A COD.

° Watch Video Solution

10. A point D is on the side BC of an equilateral triangle ABC such that

1
DC = 1 BC . Prove that AD? = 13 CD?.

o Watch Video Solution

Exercise Subjective Problems Short Answer Type

1.P and Q are points on the sides AB and AC respectively ofa A ABC. If

AP=2cm, PB = 4cm AQ= 3cm and QC= 6cm. Show that BC=3PQ.

s |


https://dl.doubtnut.com/l/_qtXmPAkxWwux
https://dl.doubtnut.com/l/_BTwb3zW8OJZ5
https://dl.doubtnut.com/l/_1X2V9rU5kUcK
https://dl.doubtnut.com/l/_8OTn9ZaAuflF

[ W Watch Video Solution J

2. In ABC, D is the mid-point of BCandED is the bisector of the
ZADBandEF is drawn parallel to BC cutting AC in F . Prove that

ZEDF is aright angle.

° Watch Video Solution

3.In Figure, ZBAC = 90°, AD is its bisector. If DE 1 Ac , prove that

DEx(AB + AC) = ABzAC

° Watch Video Solution

4.In given figure ,OP =5 cm and OR =12 cm and QR =85 cm find the area

of APQR .


https://dl.doubtnut.com/l/_8OTn9ZaAuflF
https://dl.doubtnut.com/l/_dJeJPuYd8mdV
https://dl.doubtnut.com/l/_zuk2j3olsis8
https://dl.doubtnut.com/l/_nVnzZecpcMm2

A8 om

° Watch Video Solution

5.In Fig. 4123, ABCD is a trapezium with AB | | DC.If AAED is similar

to ABEC, prove that AD = BC.

° Watch Video Solution

6.Ina A ABC P and Q are points on AB and AC respectively and PQ||BC.

Prove that the median AD bisects PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_nVnzZecpcMm2
https://dl.doubtnut.com/l/_2Dx6gpFIPp5J
https://dl.doubtnut.com/l/_W1m7zc9AMctM
https://dl.doubtnut.com/l/_mWzHXBPtnu5m

7.1n figure , CD ||LA and DE||ACfind CL.

dem F2em O

° Watch Video Solution

8.1n an isoscles AABC, AB = AC and D is a point on BC. Prove that

AB? - AD?> = BD - CD.

° Watch Video Solution

9. In the figure given below, APQR is right-angled at Q and the points S

and T trisect the side QR. Prove that 8PT? = 3PR + 5PS”?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_mWzHXBPtnu5m
https://dl.doubtnut.com/l/_lZ4BETCliq9y
https://dl.doubtnut.com/l/_xqOLViYl78CX

10. In trapezium ABCD. AB||DC and DC = 2AB. A line segment EF drawn

: . BE 3
parallel to AB cuts AD in F and BC in E such that — = —.
EC 4

Diagonal DB intersects EF at G. prove that &EF= 10AB.

° Watch Video Solution

Exercise Subjective Problems Long Answer Type

1. In trapezium ABCD. AB||DC and DC = 2AB. A line segment EF drawn

, . BE 3
parallel to AB cuts AD in F and BC in E such that — = —.
EC 4


https://dl.doubtnut.com/l/_xqOLViYl78CX
https://dl.doubtnut.com/l/_lsPUjeJaFXvj
https://dl.doubtnut.com/l/_R4g9xsYYkZCv

Diagonal DB intersects EF at G. prove that &EF= 10AB.

° Watch Video Solution

2.In aright triangle ABC, right angled at C, P and Q are the points of the
sides CA and CB respectively , which divide these sides in the ratio 2:1
Prove that

9AQ* = 9AC? + 4BC?

° Watch Video Solution



https://dl.doubtnut.com/l/_R4g9xsYYkZCv
https://dl.doubtnut.com/l/_06bMJgDatfV0

3.In aright triangle ABC,, right angled at C, P and Q are the points of the
sides CA and CB respectively , which divide these sides in the ratio 2:1
Prove that

9BP? = 9BC? + 4AC?

o Watch Video Solution

4.1n aright triangle ABC, right angled at C, P and Q are the points of the
sides CA and CB respectively , which divide these sides in the ratio 2:1
Prove that

9(AQ* + BP?) = 13AB?

o Watch Video Solution

5. Two poles of height a metres and b metres are p metres apart. Prove
that the height of the point of intersection of the lines joining the top of

b
each pole to the foot of the opposite pole is given by % metres.
a

r.


https://dl.doubtnut.com/l/_MhuQGg9TUJOf
https://dl.doubtnut.com/l/_RZW12Acy6dTr
https://dl.doubtnut.com/l/_ggM2Y8IQTvhO

| % vvallll viGco SOIuUtiorn J

6. Prove that the sum of the squares of the diagonals of parallelogram is

equal to the sum of the squares of its sides.

° Watch Video Solution

, ., Area(ADEF)
7.1n Fig.7 .85, DE||BC and AD : DB =5 : 4. Find
Area(ACFB)
A
D E
F
C

Fig. 7.85

° Watch Video Solution



https://dl.doubtnut.com/l/_ggM2Y8IQTvhO
https://dl.doubtnut.com/l/_XXPiQIVVooMB
https://dl.doubtnut.com/l/_Z7wfltZZbw9Q

Exercise Integer Numerical Value Type

1. AABC and ACDE are two equilateral triangles such that D is the
mid -point of BC . The ratio of the areas of ACDE and AABC is 1: k

then k =

o Watch Video Solution

2. If AABC is an equilateral triangle such that

AD 1 BC, AD? = kDC? ,then kis

° Watch Video Solution

3. If each side of a rhombus is 10 cm and one of its diagonals is 16 cm ,

then the length of the other diagonal is kcm . Find k.

° Watch Video Solution



https://dl.doubtnut.com/l/_Lk7a8IcSJh4S
https://dl.doubtnut.com/l/_EELHbWFL8jB8
https://dl.doubtnut.com/l/_5eIIgciI55Cy
https://dl.doubtnut.com/l/_BTpp2yaLz81y

4. A girl of height 100 cm is walking away from the base of a lamp post at
a speed of 1.9 m/s . If the lamp is 5 m above the ground , find the length

of her shadow after 4 seconds (in metres )

° Watch Video Solution

5.1f in an isosceles triangle a is the length of the base and b the length

of one of the equal sides , then its area is %\/ kb — a® Find k.

° Watch Video Solution

6. If corresponding sides of two similar triangles are in the ratio 4 : 5,

then corresponding medians of the triangles are in the ratio 4: k . Find K

° Watch Video Solution



https://dl.doubtnut.com/l/_BTpp2yaLz81y
https://dl.doubtnut.com/l/_qpe0wTUdgkEU
https://dl.doubtnut.com/l/_E345sj8zc3e5

7.P and Q are the points on sides AB and AC respectively of a AABC',
such that PQ||BC .If AP | PB = 2:3 and AQ=4 cm , then the length of AC

is...Cm.

° Watch Video Solution

8.XY is drawn parallel to the base BC of AABC cutting AB at and AC at Y

.If AB=4BX and YC =2 cm,then AY is ...Cm .

° Watch Video Solution

9.In AABC , if DE||BC, AD =x , DB =x-2,AE=x+2andEC=x-1, then the value

of xis

° Watch Video Solution



https://dl.doubtnut.com/l/_Ez7wAXNgbkx5
https://dl.doubtnut.com/l/_6LtS9Ywzlag8
https://dl.doubtnut.com/l/_o7XbbeKG7dns

10. The altitude of an equilateral triangle having the length of its side 10

cmis K4/3 cm .Find K.

o Watch Video Solution

Olympiad Hots Corner

1. In the given figure (not drawn to scalse ) , AG is parallel to CD and

2 2
7CD . The point B on AC is such that BC' = 7AC . If the line

BG meets AD at F and the line through C is parallel to BG which meets AD

AG =


https://dl.doubtnut.com/l/_4fUhiV0fPCsU
https://dl.doubtnut.com/l/_39jrnuP7594C

FG
at E, then find the value of — .
EC

A1/7
B.3/7
C.4/7

D.2/7

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_39jrnuP7594C
https://dl.doubtnut.com/l/_LsqGyV2UlN8l

2. In the given figure (not drawn to scalse), ABC is on horizontal ground
and O is vertically above A . M is the mid -point of BC . If
ZBAC =90°, AB = AC = 16cm and OA=12 cm, calculate the length

of OB.

()

A.25cm

B.15 cm


https://dl.doubtnut.com/l/_LsqGyV2UlN8l

C.20cm

D.28 cm

Answer: C

o Watch Video Solution

3. In the given diagram

/ABC = LZAED, AD = 3cm, AE = 5¢cm and EC = 2c¢m Find

(i) BD

i Areaof AAED
" Atea of AABC

gl


https://dl.doubtnut.com/l/_LsqGyV2UlN8l
https://dl.doubtnut.com/l/_KJ54C5SAXuct

Answer: A

° Watch Video Solution

4. ABCD is a parallelogram and L is a point on DB . The produced line AL

meets BC at M and DC produced at N .


https://dl.doubtnut.com/l/_KJ54C5SAXuct
https://dl.doubtnut.com/l/_ss5fhdxDJOIR

. AB
Given that DL =3LB, find —— .
CN

A.3/2
B.1/2
c.4/5

D.1/4

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_ss5fhdxDJOIR

5.ABCD is a rectangle and M is a point on CD . AC and BM meet at X..

A E

)

N

It is given that CM =3MD. Find

(i) area of ACXM : area of AAXB

(i) area of ABXC': area of rectangle ABCD

A (i)9:16

(i) 3:11

B. (i) 9:16

(i) 3: 14

C.(i)16:9

(i) 14: 3


https://dl.doubtnut.com/l/_iQSnSsrlEGoG

D.(i) 16: 9

(i) 11: 3

Answer: B

° View Text Solution

6.In AABC, Z/ACB = 90°, AC = 4 and BC = 3, then the value of

CD x ABis


https://dl.doubtnut.com/l/_iQSnSsrlEGoG
https://dl.doubtnut.com/l/_ZKNCr2pn9IOE

A .20

C.12

D.10



https://dl.doubtnut.com/l/_ZKNCr2pn9IOE

Answer: C

° Watch Video Solution

7. In the figure, AE is the bisector of the exterior ZC'AD meeting BC

produced in E.If AB = 10cm, AC = 6¢cm and BC = 12¢m, then CE is

A.12 cm

B.16 cm

C.20cm

D.18 cm

Answer: D

O Watch Video Solution

8.In AABC,m/B = 90°, AB = 4,/5. BD | Ac, AD = 4, then area

of (AABC) =


https://dl.doubtnut.com/l/_ZKNCr2pn9IOE
https://dl.doubtnut.com/l/_NGvr9lh4cgJ2
https://dl.doubtnut.com/l/_KsVHVUbl3DxF

A. 96 sq . Units

B. 80 sq . Units

C.120 sq . Units

D. 160 sq . Units

Answer: B

o Watch Video Solution

9.In the given figure , the value of AB will be



https://dl.doubtnut.com/l/_KsVHVUbl3DxF
https://dl.doubtnut.com/l/_gptvnwMbN3EW

A. 11 cm

B.12 cm

C.22cm

D.16 cm

Answer: C

o Watch Video Solution

10. In trapezium ABCD. AB||DC and DC = 2AB. A line segment EF drawn

, . BE 3
parallel to AB cuts AD in F and BC in E such that — =

EC 4~
Diagonal DB intersects EF at G. prove that &EF= 10AB.

r7 g
3



https://dl.doubtnut.com/l/_gptvnwMbN3EW
https://dl.doubtnut.com/l/_Iq2avUX2LR9F

A7

B.9

C.10

Answer: D

o Watch Video Solution

M. In Fig. 4220, D is the mid-point of side BC and AE | BC . If

BC =a, AC=b, AB=¢, ED=2, AD=p and AF =p and

2

AE=h , prove that: (FIGURE) I p2 +ax + az (i)
a? a?
& :192—a:zr:—i—Z(iii)b2—i—c2 :2p2+7

A P Q R
"a’z a?/2 2p°

P Q R
B. 4 9

ar a*/2 4p

P R
C. @

axr a*/2 2p?


https://dl.doubtnut.com/l/_Iq2avUX2LR9F
https://dl.doubtnut.com/l/_74dEJZZLBIfK

P Q@ R
D.
a’r a?/2 2p

Answer: C

° Watch Video Solution

12.In the given figure , if AD is the bisector of ZBAC' . If AB=10 cm , AC =

14 cm and BC =6 cm , then find BD and DC.

AN

ot

AN

E [? C

A.25cm,3.5cm


https://dl.doubtnut.com/l/_74dEJZZLBIfK
https://dl.doubtnut.com/l/_MdMJ9BBWT7XB

B.3cm,3cm

C.35cm,45cm

D.4cm,2cm

Answer: A

o Watch Video Solution

13. Read the statemenst carefully and state 'T' for true and 'F' for false .

1. If a line divides any two sides of a triangle in the same ratio , then the
line is parallel to the third side of the triangle .

2 . The internal bisector of an angle of a triangle divides the opposite
side inernally in the ratio of the sides containing the angle .

3 .If a line through one vertex of a triangle divides the opposite in the
ratio of other two sides , then the line bisects the angle at the vertex.
4.Any line parallel to the parallel sides dividesproportionally .

5. Two times the sum of the squares of the sides of a triangle is equal to

four times the sum of the squares of the medians of the triangle .


https://dl.doubtnut.com/l/_MdMJ9BBWT7XB
https://dl.doubtnut.com/l/_O2QKpH8ncfI1

A.12345
T T T T T
B.12345
T T T T F
C.12345
F T F T F
D12345
T T F T F
Answer: B

o Watch Video Solution

14. Fill in the blanks .

(i) In two similar triangles , ABC and PQR, if their corresponding altitudes

AD and PS are in the ratio 4 : 9, then ar(AABC):ar(APQR) = (P) .
(ii) Area of an equilateral triangle described on the side of a square is
(—_) the area of equilateral triangle described on its diagonal .

(iii) The altitude of an equilateral triangle with side 'a' equals oberline((R

)

A P Q R
" 16:81 Twice %


https://dl.doubtnut.com/l/_O2QKpH8ncfI1
https://dl.doubtnut.com/l/_aJLMUckhrqXI

P Q@ R
"4:9 Half 2a

P Q R
C. o
16: 81 Half 5
P Q R
D.
4:9 Twice @
Answer: C

° View Text Solution

15. In the given figure , if
AD 1 BC,AC =4,BD = 2,AB = a and CD = b,thena® + b =
B

A.6

B.8


https://dl.doubtnut.com/l/_aJLMUckhrqXI
https://dl.doubtnut.com/l/_ITphMD2rCt2n

C.12

D. 20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ITphMD2rCt2n

